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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

= —— = o — -

1-Doctors should ---------- a while on the wisdom of separating babies from their mothers.

1) ponder 2) resolve 3) proceed 4) recover
2-Is the job of the police to enforce ---------- with the regulations?

1) authority 2) compliance 3) compensation 4) resolution
3-He was found guilty of ---------- of justice.

1} deviation 2) obstruction 3) submission 4) implication
4-The lawyer claimed that the company had shown a(n) ----—--- - disregard for its
employees’ safety.

1) reckless 2) engrossed 3) tentative 4) illegible
5-The book explains the ---------- of the English language from old to medern English.

1 initiation 2) incidence 3) evolution 4) reverence
6-The party is promising low inflation and ~—--—-- economic growth.

1) mature 2) haphazard 3) preliminary 4) sustainable
7-We have -----—- -- many new features into the design of the building.

1) displaced 2) assigned 3) incorporated 4} enhanced
8-Global warming might ---------- dramatic changes in our climate.

1) induce 2) compile 3) penetrate 4) conceive
9-Some teachers welcomed the change in the educational system; but for the majority, the

=--==- Was true.

1) revival 2) converse 31 contradiction 4) endeavor
10-The problem had been ---------- to in earlier discussions.

1) alluded 2) assumed 3)overlapped 4) coincided

——— e —

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3),
| or (4) best fits each space. Then mark the correct choice on your answer sheet.
e e i ;

Mass communication is the sending of messages through the mass media of television,
radio, newspapers, and the cinema. Mass communication (11) -——-——- a mass of people, that
is, a large pumber of “receivers.” It is an expensive business (12) - can usually only be
undertaken by Jarge companies with large amounts of money (13) ----------, such as television
and radio companies, publishing houses, and film studios. The technology used is costly and
complex, and can rapidly become (14) ---------- date. Mass communication has arisen mainly in
the 20" century. It depends upon (15) --------- a certain degree of education. This century has
seen the invention of radio and television, and the growth of newspaper and magazine
circulations.
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11-1) aims to 2) has aim at 3) has aim to 4) 1s aumed at

12-1) so 2) and 3) which it 4) thar it

13-1) spends 2) spending it 3) for spending 4) to spend

14-1) to 2) out for a 3) out of 4) for the

15-1) public having 2) public to have 3) the public having ~  4) the public to have

[ PART C. Reading Comprehension

Passage 1

During his postgraduate program, Hawking was diagnosed as having Amyotrophic
Lateral Sclerosis (ALS), a rare progressive disease that handicaps movement and speech,
This disease makes it necessary for Hawking to carry out the long and complex
mathematical calculations that his work requires in his head. He has been able to
continue his studies and to embark vpon a distinguished and productive scientific career
despite his illness.

From its earliest stages, Hawking's research has been concerned with the concept of
singularities—breakdowns in space and time where the classic laws of physics no longer
apply. The combination of time and three-dimensional space is called space-time. The
most familiar example of a singularity is a black hole, the final form of a collapsed star.
Much of what scientists believe about space-time comes from the theory of relativity,
which was developed in the early 20th century by German American physicist Albert
Einstein, During the late 1960s Hawking proved that if the general theory of relativity is
correct, then a singunlarity must also have oceurred at the big barg. The big bang is the
explosion that marked the beginning of the universe and the birth of space-time itself.

16. The passage states that --—------------

1) ALS is a condition first dmgmmad in Hawlung

2) Hawking's relentless work led to his ailment

3) Hawking strove to find a eure for ALS

4) ALS did not stop Hawking’s academic endeavors

17. The word “requires™ in line 4 is closest in meaning to ---—-vee-,
1) entails 2) performs 3} imposes 4) compels
18. The author states that Hawking’s scientific career ----—— —.

1) could have been more productive had he not had a disease

2) was, notwithstanding his illness, noteworthy

3} would haye become as significant as that of Einstein had he not been handicapped
4y made him develop the ability to do long and complex mathematical calculations
19. All of the following have been defined in the passage EXCEPT ---------- .

1) big bang 2) space-time

3) the concept o singularities 4) the theory of relativity
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20. According to Hawking, whether or not a singularity occurred at the time of the big
bang -------m-,

1} was first verified by Albert Einstein

2) is hypothetically true but empirically impossible to establish

3) is a hypothesis whose validity depends on the authenticity of the theory of relativity

4) is very important in substantiating the theory of relativity

21. The word “itsell™ in 15 refers to ~--------- .

1) birth of space-time 2) beginning of the universe
3) big bang 4) explosion

Passage 2

Building on the work of Clifford Shull and ether scientists who first developed
neutron-scattering techniques, Brockhouse designed a new instrument for neutron-
scattering research. Neutron scattering is based on the fact that beams of neutrons can
pass readily into a substance, much as X rays can. The neutrons are scattered, or
diffracted, by the atoms in the substance. By measuring the neutron change, scientists can
gather information about a substance's atomic structure. Brockhouse designed an
instrument called a triple-axis spectrometer, which can measure the energy and
momentum of the neutrons as they enter and leave the sample substance. This allowed
him to gather data about vibrations and other movements of the atoms within the
substance, ultimately providing information about the substance's physical properties.
His instrument is still widely used in neutron-scattering studies, which have applications
in biology, chemistry, materials science, and engineering. Polymers, semiconductors, and
superconductors are just three of the many materials analyzed and developed with the
help of neutron-scattering techniques. Brockhouse's work is also credited with helping to
form the basis of modern solid-state physics, also known as condensed-matter physics.

22. Which of the following questions does the passage NOT answer?

1) What kind of device did Brockhouse invent?

2) What techniques are used to analyze and develop polymers?

3) How can scientists collect data about a substance's atomic structure?

4) How did Brockhouse come to know Clifford Shull’s work?

23. Which of the following has the author used in the passage to make a comparison?
1} Beams of neutrons 2) Neutron-scattering stodies

3) X rays 4} Solid-state physics

24, Which of the following is TRUE about the triple-axis spectrometer?

1} It was improved by Brockhouse.

2) It 15 a measurement device.

3) It involves both energy and momentum.

4) It can enter or leave sample substances.

25, The word “ultimately”™ in line 9 is closest in meaning to --------—-—-- .

1) eventually 2) definitely 3) deniably 4) precisely
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26. Which of the following best represents the organization of the passage?

1) A thesis is made and then supported via examples.

2y An instroment is introduced and then its flaws are mentioned.

3) A means developed by a scholar is introduced, how it works is explained and its applications
are briefly cited,

4) A device designed and improved over the years is physically described and the way 1t works
15 xplicated.

27. The materials that can be analyzed and developed by means of neutron-seattering

technigues are --------—- .
1) a handful 2) three 3) great in number 4) less than three

Passage 3

Before the development of quantum theory, physicists assumed that, with perfect
equipment in perfect conditions, measuring any physical quantity as accurately as
desired was possible. Quantum mechanical equations show that accurate measurement of
both the position and the momentum of a particle at the same time is impossible. This
rule is called Heisenberg’s uncertainty principle after German physicist Werner
Heisenberg, who derived it from other rules of guantum theory. The uncertainty
principle means that as physicists measure a particle’s position with more and more
accuracy, the momentum of the particle becomes less and less precise, or more and more
uncertain, and vice versa.

Heisenberg formally stated his principle by describing the relationship between the
uncertainty in the measurement of a particle’s position and the uncertainty in the
measurement of ils momentom. Heisenberg said that the vncertainty in position
(represented by Ax) times the uncertainty in momentum (represented by Ap:) must be
greater than a constant number equal to Planck’s constant (h) divided by 4n (&t is a
constant approximately equal to 3.14). Mathematically, the uncertainty principle can be
written as Ax Ap > h / 4n. This relationship means that as a scientist measures a particle’s
position more and mere accurately—so the uncertainty in its position becomes very
small—the uncertainty in its momentum must become large to compensate and make this
expression true. Likewise, if the uncertainty in momentum, Ap, becomes small, Ax must
become large to make the expression true.

28. According to the passage, the assumption held by physicists about measurement
before the development of quanfum theory was ----ceceeeaeee,

1) accurate 2) fallacious 3) perfect 4) probable

29. What does the passage mainly discuss?

1) Different versions of quantum theory

2) Some explanation of a principle

3) The approach Werner Heisenberg took to capture his finding in a formula

4) Rules of quantum theory other than Heisenberg’s uncertainty principle

30. 47 stands for ---------- :

1)12.56 2)3.14 3)7.14 4)3.18
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